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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

[ ]

!\.u

10.

Answers are 10 be bubbled only on the separate carbonless answer-sheet provided to
you. After examination detach the carbonless copy from original OMR & keep
carbonless copy with you ull the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one block)

On question paper. Before writing your seat no. ascertained it with Hall ticket. Please
see that no block is left blank or unfilled.

Example -

CENTER CODE ' l| 0

-

SEAT NO M3 (3 |9

[
s’
I~

I:[Ifz 3
l =]

I‘U
|

Please ensure that you have received Mental Ability Test answer sheet.

Total number of questions are 90 for this paper. All questions carry one mark each.

All questions are compulsory.

For each questions there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet by

Black/Blue pen. Please do not write any answers on question papers.
Start answering from first question one after the other till last question.

If you do not know the answer to any question. do not spend much time on it and pass

on to the next one. Time permitting you can come back to the qQuestions which vou
have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code. Seat No. and rough work anywhere in this
booklet.
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Q. 1 to 4 Directions :- In the following questions there is a specific relation between first
and second term. The same relationship exists between third and fourth term which
will replace the question mark. Select the correct alternative from the given alternatives.

(&)
L

AMK 1IFQ
(1) RRV

SP]  : HKQ
(1Y PNK

PINK RLRP
(1) DNWG

NMMS : 1IQ
(1) CPPC

Q. 5 to 7 Directions :

5.

definite way. Find out the correct figure.

Question Figure

JKP : 7
(2) QRT

MTS : ?

(2) NGH

BLUE : ?
(2) DNY]J

HTSE : 7
(2) DPQC

(3) RDV

(3) DOXK

(3) CCPP

/)

3

Answer Figure

“

g

]

(1) (2)

(3)

(4)

(4) RSX.

(4) KRH.

(4) DOYJ

(4) MXVG

In each of the following questions the question figure changes in 2

SPACE FOR ROUGH WORK
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AMK : IFQ = JKP:? 1.

RSX (4) RDS (3) QRT (2) RRV (1)
SP] : HKQ : MTS:? 2.

KRH (4) NIT (3) NGH (2) PNK (1)
PINK : RLRP : BLUE:? 3.

DOYJ (4) DOXK (3) DNYJ (2) DNWG (1)
NMMS : TIQ : HTSE:? 4.

MXVG (4) CCPP (3) DPQC (2) CPPC (1)

2 ne s LS IBIr IS Ga S AT LUE e S LS5 e T 54
2t ST i Ll

U:E:i_ﬂr’ 5.
NIEIRNE
JEQz

AN AN

(D) (2) (3) 4)

Lued L pvs

NMMS-MAT-19| VIII| M2 5




6. Question Figure

O O || A ?

Answer Figure

9 () @

@ Gy, @

7. Question Figure

a )l; b+
l.)

K

147T

Answer Figure

t
9t # v o e Q

M @ 3 @

Q. 8 to 10 Directions :- In the following questions a specific group of numbers is given
from the given alternatives find out the right number which maiches the given group.

8. 132, 473, 594
(1) 147 (2) 342 (3) 253 (4) 584

9. 721, 636, 749
(1) 311 (2) 836 (3) 547 (4) 668

10. 32-80, 26-65, 42-105
(1) 14-33 (2) 18-45 (3) 10-35 4) 16-42

SPACE FOR ROUGH WORK
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ele
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ST

o

=

¥

Vo
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11537

o
Qo+ % Vo led | e

(1 (2) (3) (4)

;.J:—UJI}L!EQ.J_.T_._lffpu/’if:‘?-.gfu::ﬂgﬁ%JJ’:-'H:.Z.T gl :IOLS/J‘JLF

DGt Lo S 5L
132, 473, 594 8.

584 (4) 253 (3) 342 (2) 147 (1)
721, 636, 749 9,

668 (4) 547 (3) 836 (2) 311 (1)
32-80, 26-65, 42-105 10.

1642 (4) 10-35 (3) 18-45 (2) 14-33 ()

Ll & rvs
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. 11 to 13 Directions :

Find the odd fligure.

(D (2)
12. %@‘ ‘
(n R}
@ BJ M
(1) (2)
Q. 14 to 17 Directions : Write which letter in the given sequence replaces the question
mark.
14. AZ, CX, FU?
(1) IR (2) KP (3) JQ (4) RS
15s. CT, HP, ML, PH,?
(1) DW (2) TD (3) VE (4) WD
16. MNO, KPQ, IRS, GTU,?
(1) EVU (2) EVW (3) FUT (4) DWX
17. AYC, DVF, GSL?
(1) JPL (2) KOM (3) QKO (4) LPJ
SPACE FOR ROUGH WORK
8 NMMS-MAT-19
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-Q-Efyd/;’ ‘cle 131 l/.Ui.r'

A

(. @ 3) (4)
\k ﬁ;\ 12.

(1) (2) (3) (4)
Wi

(1) (2) (3) (4)

T.f-_.c;;"_.i,;!_.ui.ar;:._.;} fale 17142y
AZ, CX, FU? 14.

RS (4) JQ (3) KP (2) IR (1)
CT, HP, ML, PH? 15.

WD (4) VE (3) ™ (2) DW (1)
MNO, -KPQ, IRS, GTU? 16.

DWX (4) FUT (3) | EVW (2) - EVU (1)
AYC, DVF, GSI? 17

LPT (4) QKO (3) _KCIM 2y . JPL (1)

Ll Lo
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Q. 18 and 19 Directions :- The following figure is folded to form a cube. Observe the
figure and answer the following questions.

Al

mu[r':-u:-

|F

18. Which letter will be in front of letter A.

(1) D 2 cC (3) E (4) F

19. Which of the following letter will not be adjacent to E ?

(1) A (2) B (3) C - (4) D

Q. 20 to 23 Directions : Write which number in the given sequence replaces the question
mark.

20. 32, 38, 42, 44,7

(1) 48 (2) 46 (3) 50 (4) 52
21. 6, 7, 16, 51,7

(1) 153 (2) 204 (3) 208 (4) 156
22, 2, 6, 14, 30,7

(1) 46 (2) 62 (3) 44 (4) 64

23. 31, 35, 43, 50,7

(1) 58 (2) 57 ' (3) 55 (4) 60

SPACE FOR ROUGH WORK

10 NMMS-MAT-19 | vIII | M2




LHQ.JZ.TI:J:J‘-L'?K;LKU.TJKJI_.‘;.E&L(L}J_Q{LJ:&QFJJJ gl !191.!’18/&)‘”

,,;a_f_-,;,u,zgi_-,wr
BlA|
C
D
|F|E
Wz Tzl vl A7 18
F (4) E (3) C (2 D (1)
ofs T s ulPe AN E 19
D (4) C (3) B (2) A (D)

%”L.RJ:FL-@:@J:JL*-?,;I”I:__,;} iecla :23;20/:‘.;_)!:-'
32, 38, 42, 44,7 20.
52 (4) 50 (3) 46 (2) 48 (1)

6, 7, 16, 15,7 2L
156 (4) 208 (3) 1204 (2) 153 (1)

2, 6, 14, 30,7 212.
64 (4) 44 (3) 62 (2) 46 (1)

31, 35, 43, 50,7 23.
60 (4) 55 (3) 57 (2) 58 (1)

Lled Lpvi
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Q- 24 and 25 Directions :- Observe the following figure and answer the following questions

25.

by choosing the correct alterantive given below.

—

Find the number of squares in the figure.

(1) 16 (2) 14 (3) 12 (4) 10
Find the number of rectangles which are not squares.

(1) 10 2) 12 (3) 14 (4) 16

Q. 26 to 28 Directions :- In the following Venn diagram, square represents painter, circle

26.

represents singer, triangle respresents the artists those who play instruments and
reclangle represents gents-artists. Answer the following questions.

Which letter represents only gents artists who are good in painting, singing and playing
instruments ?

(1) B (2) H 3) G (4) J

SPACE FOR ROUGH WORK
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_g’g;.uf:,UJP.:.U?.L_"-UIJ’LQLLJILJL‘-U-'Euﬁljﬂ@ gl 1251:'24/‘.%..}'-"

‘-‘J{fﬂJw’-’/uﬁf 24.
10 (4) 12 (3) 14 (2) 16 (1)

G g PSS 2 2s.
16 (4) 14 (3) 12 (2) 10 (1)

é/;tb':_..;k-wmful J-»L‘-:‘=JKL§"';" -ru}h:.;ﬁb' t&/:)ﬁgﬁi@u{!'&ﬁ%} ey !Zgaa]ﬁ/j}dff
el e LT 2

| ]
e
"D!/ G |F
N
s e D7e Ul 1 S T PUF S E SRS 26.
I (4 G (3) H (2) B (1)

Ldod L ovss
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27. Which letter represents oply gents artists who are good in painting and singing but not
good in playing instruments ?

() 1 (2) G (3) B (4) D

28. Which letter indicates only gents artists who are good only in painting ?

(nJ (2) 1 (3) B (4) H
Q. 29 and 30 Directions :- Which of the following figures represents the'following elements ?

29. Students, Women, Players

(1) (.2)@ SENC) @ (4) C@

30. Gents, lawyer, reader ="

f—’\;'
v® O° @) -

Q. 31 and 32 Directions :~-Three different positions of a cube are shown in the figure.
Observe the figure and-answer the following questions.

5 4 2

4 | 6 6

M) - (ii) (iii)

31. In the fig. (ii) which number is there at the base face of the cube ?

(1) 1 @) 2 3 s @ 6

SPACE FOR ROUGH WORK
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st e e bl SN I K 27
D (4) B (3) G (2 I (1)

191y Li e Jiie uJ:G/LlJE':rLﬁ e S 28.
H (4) B (3) I (2) J (1)

b e Lbore SIKIL LS ey 3029 Aty
S (w29,

(1) (2) @ @ (4) @

CrELL e bWl 30.

v® 0 »@) »B

LLTE Sk FIE AP LS G GE eae 32131 Ay

_el bl Ul
5 4 2
# (I 6 |3 b 15
L
) (i) (iif)
e sy Ul sl (i) £ 31
6 (4) 5 (3) 2 (2) ' 1 (1)

-J;JL;_i/_’rE’_i.i
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32. Which number will not be there on the surface adjacent to the surface having number
57 '

(1 2 (2) 4 3) 3 4) 6

Q. 33 to 36 Directions :- In a code language the word 'SMART!' is written in four different
languages. Observe the code language given below and select the correct answer.

SMART

(1) SNCUX (2) HNZIG (3) USBNT (4) SATMR
33. HANDSOME = HNSMADOE

34. BEAUTI = BFCXXM
35. LIKE = ORPV
36. CHARM = NSZID

Q. 37 and 38 Directions :- Find the odd term out.

37. 10, 14, 28, 32, 64, 68, 132

(1) 14 2) 132 (3) 68 ) 32

38. 3, 7, 15, 39, 63, 127, 255, 511

(1) 39 (2) 63 (3) 255 (4) 511

Q. 39 and 40 Directions :- Arrangement of letters is given in a proper manner. Choose the
correct alternative from the series of letters.

3. ps__ _tpt__s
(1) stp (2) pst (3) tsp (4) spt

SPACE FOR ROUGH WORK
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NI C )]

- g

\ W - . .
N LDt -'——vd"v(‘-“"'-' 3.

4 (2) 2 ()

LG 3 e Wi U Ao 5 SMART (Zuhs Sl 1o cls 36633 21

SATMR (4)

32 (4)

511 (4)

USBNT

’.’.{:r - | -"'.r'-:i‘! (1. €. oz g
-?HI "_'h. ﬁwu—ugfy .‘L’-: Jvlé-v-xgﬂf_-. ?

a .I‘ &
.‘_',!!-i‘,: “r"

SMART

HNZIG (2) SNCUX (1)

HANDSOME - HANSMADOE 33.
BEAUTI = BECXXM 34.

LIKE = ORPV 35,

CHARM = NSZID 36.

L S L $owl LT s 38537
10, 14, 28, 32, 64, 68. 132 37.
132 (2) 14 (1)

3, 7, 15, 39, 63, 127, 255, 511 38.

255 (3)

63 (2) 39 (D

_Zg lef-ul. L):IT..JJL c}!C;u.n“q L;.rrd oz dla;f./:.flb K /-u':‘"’?d’.' 47 e 40 JF,I__’.')},o-_*:wi'l -

spt (4) sp (3)

ps_ _tpt = 39,
(2) stp (1)

Lded £ va,
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40. ghg hgh _ __h__h__¢g
(1) hghgh (2) ggggh (3) hgggh (4) hgghg

Q. 41 to 43 Directions :- In each of the following questions find out the term which

matches the given group.

41. BD, DP, CI
(1) AA (2) EX (3) HT (4) KZ

42. DWV, LON, HSR
(1) BCX (2) GTS (3) JKP (4) MLN

43. NSW, GLP, XCG
(1) LRV (2) DIN (3) TYC (4) BFK

44. In a code language NARGRUED = GRANDEUR, then in the same code language
SERPEVRE = ?

(1) PRESEVER (2) PERSERVE (3) PRESEVRE (4) PRESERVE

45. In a code language RED = 6720, then in the same language BLUE = ?

(1) 212215 (2) 144723 (3) 723144 (4) 414237

46. In a code language SNEH = 62, then in the same code language PREM = »

(1) 56 (2) 55 (3) 54 4) 52

47. In a code language E = 5, HOTEL = 12 then in the same language LAMB = 9

(1) 13 (2) 11 (3) 9 (4) 7

SPACE FOR ROUGH WORK
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ghg _hgh __ _h__h__g 40
hgghg (4) hgggh (3) gggegh (2) hghgh (1)

S L uf.:-UJ?L;@.J-‘LMEJHJ;J:‘{_HEU;’]J..:-.«Ulﬂ'iriT wagle 43 ;41,&0'!‘

_éJ:P_..-flPas-r:_y;.ule
BD, DP, CI 41.
KZ (4) HT () EX (2) AA (1)

DWV, LON, HSR  42.
MLN (4) JKP (3) GTS (2) BCX (1)

NSW, GLP, XCG 43.
BFK (4) TYC (3) DIN (2) LRV (1)

Loiduisigrz LAt GRANDEUR &3 NARGRUED Aubidueifl/i - 4a.
¢L =%, b /5. SERPEVRE

PRESERVE (4) PRESEVRE (3)  PERSERVE (2) PRESEVER (1)

o U7, h /5, BLUE Luliduiigiiured LA 6720 53 REDUAubie bl 45,
414237 (4) 723144 (3) 144723 (2) 212215 (1)

of #% A5, PREM EobiduIs1iue At 62 i SNEH obidubiffi - d6.
52 (4) 54 (3) 55 @) 56 (1)

oL =7, S, LAMB (LLi0UENRs7 E =5, HOTEL = 12 Lol S e,
7 @) 9 (3) 1 @ 13 (1)

Loed Lp¥is
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Q. 48 and 49 Directions :- A gquare transparent sheet with some pattern is given below as
a problem figure. The sheet is folded on the dotted lines. How would the pattern look
like ?

48. Question Figure ' Answer Figure

W FIFER

(1) (2) (3) (4)

49. Question Figure " Answer Figure

Hm @ @ @

Q. 50 to 52 Directions :- Observe the pyramid of numbers and answer the questions that
follow.
1
2 3
6 5 4
7 8 9 10
15 14 13 12 11
~16 17 18 19 20 21
128727 26 25 24 23 22
29730 31 32 33 34 35 36
45 44 43 42 41 40 39 38 37

50. 28294430, 26314232, "124334034, 7
(1) 22353836 (2) 22363835 (3) 23353934 (4) 25334034

51. 68594, 81391210, 1319122011, ?
(1) 1726182519  (2) 4232334140  (3) 2625333132 (4) 234986

SPACE FOR ROUGH WORK
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- P Ve B e s P E i SV U st e s ey 149148 A4l

Y e 48.
ol & | R 118l | 12
(1) (2) (3) 4)
| u“' L._“i-'l f-glr 49.
(1) (2) (3) (4)

_éJWL Lﬁ;ﬂjl:;al:iﬂql?‘&:.-!Jlrf-‘_.:fe..:éﬁrbﬂiﬂﬁiLJTQ.J.L‘:’:-:JJ{ 152::-59/:‘U|)"

7 8 9 10
15 14 13 12 11
16 17 18 19 20 21
28 27 26 25 24 23 22
29 30 31 32 33 34 35 36
45 44 43 42 41 40 39 38 37

28294430, 26314232, 24334034,7 50.
25334034 (4) 23353934 (3) 22363835 (2) 22353836 (1)

68594, 81391210, 1319122011,? 51,
234986 (4) 2625333132 (3) 4232334140 (2) 1726182519 (1)

.J;;JG.:'_L(LJJ
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52. 1517263231 : 1120243334 - 4430271718 : 7
(1) 414243333132 (2) 1219242011
(3) 3835232019 (4) 1413192526

53. In the following questions one question figure is given to the left. How will the
reflection of the given figure in water look ? Select the correct alternative

Question Figure Answer Figure

&1 DYIE S L

(1) (2) (3) (4)

54. Choose the correct mirfor image for the question figure from the given alternatives.
Question Figure Answer Figure

%) PNEIR

(1) (2) (3) (4)

Q. 55 to 58 Directions :- Find the odd term.

55. 243, 576, 936, 213
(1) 243 (2) 576 (3) 936 (4) 213

56. 925, 216, 576, 704

(1) 924 (2) 216 (3) 576 (4) 704

57. 27-57, 63-18, 28-81, 36-96
(1) 27-57 (2) 63-18 (3) 28-81 4) 36-96

SPACE FOR ROUGH WORK
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1517263231 : 1120243334 @ 4430271718 : 7 52.
1219242011 (2) - 414243333132 (1)
1413192526 (4) 3835232019 (3)

_éa.uﬁ;-UJFLUrﬂd'ﬁ:T(L Vb!fdd&dl—h’f.}kdﬂd:é 53.

iz Ko
M AW e
(1) (2) (3) (4)

e LBl U NI oE Lo TP L LTS s s,

VEUi Sl
ZARESY 7
l é P RN
(1) (2) 3) (4)
...—,;_,L;fUGJ/:’ ala 158:.-55/,{)!:"
243, 576, 936, 213  58.
213 (4) 936 (3) 573 (2) 243 (1)
924, 216, 576, 704  56.
704 (4) 576 (3) 216 (2) 924 (1)
27-57, 63-18, 28-31, 36-96 57.
36-96 (4) 28-31 (3) 63-18  (2) 27-57 (1)
Loed Levis
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S8.

1365. 5713, 9876, 4321
(1) 1365 (2) 5713 (3) 9876 (4) 4321

Q. 59 and 60 Directions :- Amita, Amar, Ganesh and Utika are having appliances. Except

59.

60.

Ganesh all are using AC. Amita and Utika are having refrigerator, Amar is having all
the appliances except oven. Amar as well as Utika have mobile. Utika as well as
Ganesh have oven and mobile. Then answer the following questions.

Who is having all the four appliances ?
(1) Amita (2) Utika (3) Amar (4) Ganesh

Who is not having mobile ?

(1) Ganesh (2) Utika (3) Amita (4) Amar

Q. 61 and 62 Directions :- A meaningful word is formed from the letters S,0,C,M, T. L.

Then answer the following questions :

61. Write the number in the alphabetical order of he letter which is third from the left in
the meaningful word.
(1) 21 (2) 20 -(3) 19 (4) 15
62. Write the number in the alphabetical order of the letter which is last in the meaningful
word.
(1) 20 (2) 19 (3) 3 (4) 13
63. In the following question the given figure is incomplete. Select the correct alternative
which can complete the figure,
Question Figure Answer Figure
P Z
o () ;
(1) 2) -~ (3 (4)
SPACE FOR ROUGII WORK
24
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1365, 5713, 9876, 4321
4321 (4) 9876 (3) 5713 (2) 1365 (1)

58.

Z/Jnc. ['"--"é&ﬁ:{:’:’ft‘-uj:dlfﬁ,)(firu’&Z:L-JFQJ/':L,HE.TL;:,_J_,ET R :6!];:159/'.{)&‘

J@ful;:"_'uft,)gfw_uf_-,ufrujguml NN L e R S fmef Pt
2l el LT St Pl

e tiuneut LS
JE (4 £ (3) O (2) JAT (1)
?UEU{J?:Y‘J&LL«;
s (@) g AT (3) O (2) St (D)

59.

60.

2l e L LT e G Ll U7y S, 0,C M, T, U tzels 1625161 21

e Ty AL S rS e Ao Fe e AL BT 6.

15 (4) 19 (3) 20 (2) 21 (1)

- 3 s, A

?q_tlé/f;.ufuﬁu:gjfdl_{fif 1L kal s 62.

13 (4) 3 (3) 19 (2) 20 (1)
_;_:':J:L:i....fu.{_[_”a__rfﬁfi 63.

J:ﬂdl_,z
5> | By | B> | P
(1) (2) (3) (4)
Lded Lrvsi
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Q. 64 to 67 Directions :- In the following questions there is a specific relation between
first and second term. The same relationship exists between thrid and fourth t.erm
which will replace the question mark. Select the correct alternative from the given

alternatives.
64. 37 : 22 = 42 -9

(1) 24 (2) 12 (3) 09 (4) 20
65. 72 : 44 = 2 96

(1) 36 (2) 22 (3) 37 (4) 72
66. 234 : 81 : 514 -9

(1) 91 (2) 81 (3) 121 (4) 100
67. 31 : 52 = 72 .9

(1) 117 (2) 142 (3) 144 (4) 108

Q. 68 to 71 Directions : Find the odd term.

68. (1) KD (2) RL (3) MT (4) OH
69. (1) TC (2) OD (3) HFI (4) PE
70. (1) PLUS (2) ONE (3) NAME (4) UNO
71. (1) RMS (2) ND8 (3) VF19 (4) VH14

Q. 72 to 75 Directions :- In the following questions each letter

is coded with the digits
from 0 to 9. If YE x ME = ITT..

Choose the correct alternative for the following questions.

72. Find the value of E.
(1) 2 (2) 3 (3) 7 @56

SPACE FOR ROUGH WORK —m——
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a'h?'i-:zn'f-f:'&“"f.m-::-«;—&”s’c)g’-.—_cf;_/”(ﬁ%;,r:..-..m,f.g.):r ‘el 6764 A )ly
- B b S S Prs-a

37 . 22 42 7 64

20 (4) 09 (3) 12 (2) 24 (1)
72 44 7 .26 65

72 (4) 37 (3) 22 (2) 36 (1)
234 8l 514 .7 66

100 (4) 121 (3) 81 (2) 91 (1)
31 ;52 72 .7 6T

108 (4) 144 (3) 142 (2) 17 (1)
_EWSIGF es TIe 68 21
OH (4) MT (3) RL (2) KD (1) 68
PE (4) FI (3) oD (2) TC (1) 69
UNO (4) NAME (3) ONE (2) PLUS (1) 70.
VHI4 (4) YF19 (3) ND8  (2) RMS (1) 7L

-LUﬂd_JLf‘iéurﬂ':‘fu}' -9 =0 Z-u.j;/:t’;;:..- Hiy‘ié _';{L? :TSLTZ,C}(J'J"

“YE x ME = ITT
~ _.:_‘:JJP.._.-*UIL.:;UI:’&::.T?

=2 SE

(4) (2) 2 ()

7 (3) 3
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74.

5.

Find the value of Y.
(1) 0 (2) 2 (3) 5 (4) 6

Find the value of T.
(1 6 (2) 7 (3) 8 @ 9

Find the value of E+ M + T + Y
(1) 20 (2) 21 (3) 35 (4) 49

Q. 76 and 77 Directions :- In the following examples one number in each row is in bracket.

76.

77.

Numbers outside the bracket have some specific relation with the number inside the
bracket. Find the relation and replace the question mark from the alternatives given
below :

23(108)29

17(63)19

31(MH37

(1) 68 (2) 63 (3) 57 (4) 40

63(78)24

33(47)41

13(7)65

(1) 87 (2) 78 (3) 69 (4) 43

Q. 78 and 79 Directions :- Raju starts moving towards North-East and walks 7 km. Then

he turns to South-West and walks 8 km. Now he turns to North-West and walks 3 km.
After taking right turn at this point he walks 1 km and stops. Then answer the following

guestions.

78. To which direction he is from the origin ?

(1) North-East (2) South-West (3) South-East (4) North-West

SPACE FOR ROUGH WORK

28

NMMS-MAT-19 [ VI | M2 |




snf=ily 7.

6 (4) 5 (3) 2 (2) 0 (D
eWnfedf T 78
9 (4) 8 (3) 7 (2) 6 (1)

?Jﬁf;.EJE+M+T+Y 75.
49 (4) 35 (3) 21 (2) 20 (D)

O] Jbif:‘?ﬁ;.usmf_uffu::ﬁﬁﬁ@.ﬁdfa.L;:.;,Ulrf_.:u.__.:.:i_ fzg e :?7;:’76/:'2Jlf
c e L bl K Tl e S e 2t
23(108)29 76
17(63)19
31(7)37
40 (4) 57 (3) 63 (2) 68 (1)

63(78)24 47
33(47)41
13(7)65

43 (4) 69 (3) 78 (2) 87 (1)

.=..uy:ifﬁﬁswygfvﬁr?ﬁ)}ﬂ.ﬁi_@ﬁﬁ?J,E;.__;R?JJ/‘J‘_JF,?!, eI :79151?3,;{)1,#
cel e a L e el IS N Lo Lo Lo 2K 3 e JE

- e LerSulne eI T8
A @ IR ) e Q) SV ()

Lol Zvis
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79. How far he is from the origin ?

(1Y 0 km (2) 1 km (3) 3 km (4) 7 km

80. Independence day in the year 2017 was on Tuesday. On which day was Teacher's
Day ?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

81. Study the mathematical operations in the following arrangement of numbers and select
the correct alterantive that will replace the question mark

YO Y
53 87 7
(1) 49 (2) 50 (3) 48 (4) 55
i i i
82. z—-—4 4——2 zo—@—_3
I | |
3 3 9
(1) 235 (2) 141 (3) 144 (4) 188
14 9 12 1 1 20
83. 56 56 | - BE
2 6 3 5 14 4
1) 58 2) 60
(1) 2) (3) 70 @) 45

SPACE FOR ROUGHI WORK, ~—~————
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X<ET (4)

ok (4)

e &6 K e fe NG 79

#¥3 (3) XE1 (@) zE0 ()
e L LI TG GUT 162017 80.

) & () A3 (1)

- EUB b LB INAL L 3L U = I LT ey 83 8124

81.

4\|/? 6\'/9 l\]/?
53 87 ?

55 (4) 48 (3) 50 (2) 49 (1)
6 1 15
| | |
@~ @ O w
| | |
3 3 9
188 (4) 144 (3) 141 (2) 235 (1)
14 9 12, 11 11 20
B3 s
27 6 37 5 I g
45 (4) 70 (3) 60 (2) 58 (1)
IANET ]

o
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Q. 84 to 86 Directions : In the following questions there is a specific relation between first
and second figure. The same relationship exists between the third and the fourth

figure which will replace the question mark. Select the correct figure from the
alternatives given below each question.

« B
MEEm

(1) (2) (3)

85. 'ﬁ}cﬁ‘ ?
Po| |G 4| | &

86. l}:@::@: 7.
W) 5] |&a] |

(1) (2) (3) “4)
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| el G Sl S

1y S

S "

u?‘dfi_c
__C
A==
(1) (2) (3) (4)
L 85
}. 2 ::(3@
U‘r;dl.?
Po| |G |9 | A
(1) (2)- (3) 4)
Qﬁnr 86
15 @ 2 I}' . ‘
Ve
) | [&] [
@ (3) )
B Lubd L v,
[ — |
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Q. 87 to 89 Directions :- The opposite faces of a cube block are painted in the same colour.
The block is cut by 4 X 4 X 4 cm dimensions in small blocks. Answer the following

guestions.

Yellow

A

Blue

~~—__ Green

87. How many cubes have at least two faces painted in the same colour ?

(1) 24 (2) 8 (3) 6 (4) O
88. How many cubes have surfaces painted in three colours ?

(1 24 (2) 8 (3) 6 (4) O
89. How many cubes have surfaces painted in yellow but not in green ?

(1) 8 (2) 12 (3) 16 (4) 24
90. The folded figure of a square paper is shown in the question figure. If it is unfolded

what will it look like ? Select the correct alternative given.

Question Figure Answer Figure

N
U /( \F A N
(1) (2) (3) (4)
SPACE FOR ROUGH WORK
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J! axdxd L i Ls"._f;;_. .ﬂw.ﬁu:*’JJwJ;fone.:;ﬁfﬁ oy :89 =87 Uiy
2L e Feg g L LSy o L L 2K AL

Tg__d'fd_.lrﬂ_ﬂﬁ.g{u%: 87.
0 (4) 6 (3) 8 (2) 24 (1)

$E AL iynbuS 88
0 4 6 (3) g8 (2 24 (D)

oL st = ....tfl. ué;.:ﬁf,q u‘_.gugL.iu..tié’? 89.
24 (4) 16 (3) 12 (2) 8 (D

U7 e s QUiLs L AN OS2 P Pz (W & Salivue i oo,

S V=Y
Wil A
/‘/\r //\\ ﬂ
(1) (2) (3) (4)
[ LUl Z v

L
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